14,000 16,000 /t

63 1
60 200t
3
1
2
1 3
16.3 1
15.5 12.1 ,
4 1
A
70 1
62 63
L 8,500 /n?
2 3,000
) /m 113
24 4433 3,000 /m L
26,764m*  51,207m3 0.54t/m® A
50 L 24.4  /kg( )
0.54t/P 2
25,603m 13,825t B
16,000
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. BAR|E B|Fo7Au| W E R[5 7R
yoR | B M BARE| R\ (g w) | (mow) | a0 | () | (M ke)
@ |¥y3H>x| Fu7 | %L | 3,000 0 113 3,000 24.4
A e
Mo ERp| 77 %L 0 1,350 18.5
© {(+9H>3| Fu7 | Y 3,000 0 133 3,000 21.6
©® |¥y3H>o8| W | HY | 3,000 0 133 2,500 20.8
® |# > ~HE| Fv7 | L | 2,000 0 113 3,000 22.8
® |» > E| Fv7 | Y 2,000 0 133 3,000 20.2
© |# > 8| W #HB| HY 2,000 0 133 2,500 19.4
1 8,500 /m’
2 0.54t/m*
B 18.5 /kg E
133 , 20.2 /
kg
C 7
A - 19.4
8,500 /m )
/kg
133
C 21.6 /kg 4
D
16kgf/cm?
500 5
90
65 15
20.8 /kg > 60
60 55
E
2,000 /
22.8 /kg 5
am3
F



170cm 16kgf/cm? A

4n® 40 /1 2.96 /kg 1kg
85cm 0.724kg
65 4,752t , ,1,406 /
;
150 /t 1t
0.79t 5 /
6
30KW 0.7m
1.3m 3
1 600 1,800
21.1kgf/cm?
2,400kg/h /
4m? !
15.2 7
4m?
3 1 1
5 16 8 8 1 22 1 50
1,100
1 4 2
1 27 80 1 22
300 1 50
4,752t 0 3 150
4,277t 3
776 3
259 1,035
3 3,105
1,100 500 130 3 1,00
1,600 4
1988 10



80

480
1 480
2 1
H B S # fifi % £ RR
A #H BIEXEBR 44
At % BY 1% 2%
5 % B 14
I % k& 14
& E 8 % | (2407 /XT84 +400T5/HX14%) X1.3 | 2,704F /%
WAERE | R 4 7 — 1,6007
r—tr7v—7 2,328
F—r 72V —7HIER  77H
EE 27w b 1,100
k4 Z b 1505
BEREHEEHREE  1,05057
o B 1,80075
a2y R7 40H
% & & H 1,00075
I £ % 1,000
A 1,00075
N EF 11,8457 | 11,8457 X0.1 1,185 /&
BEr77 5007
Tx—27Y 7} 50077
~F 1,0005 | 11,0007 X0.2 20005 /4
B B 3,770 | 3,770 X0.1 377hH /S
s 16,6157 1,7627 /&
H AR | PR e— 700
7 4 X 507
E=Ny 7L 4807
HE STy b 10077
& &t 70075 70077 /&
E#EAKE|E N KA F— 14KW | EAEE
oo B 90KW | 15KWX 1,640 /1W< 124 A 3037 /4
il 500V | REERIE  154KW X0.7X7H:RE,H
& 3 154kW | X300 H /4 X 18.8M / kWh 426F5 /4
K & Ok 4,752t /4 X0.79t / t X150 /'t 5677/ 4F
A B W 1,1155 /%
b Ty 7 ERE 128 / %
o f|e F L2REERD 7%
et  eRwEO 2%
BEREMEZMEY 1.4%
fREERl  eFEED 1%
A EH LBMEBO 11.4% | 16,61577X0.114 1,8947 /4
' B B
E3 7 1,000% /4
& Ft 10,0887 / 4




1,000

1 500
1
500 2
1
2.1t 1 7
1
50 km 7
km/1 128 /
5
1
1
6
417 105
113 41n?
20m? 20m?
50m? 377m?
3,770
7
1,000m?
8
2 3
18 36 42 /g
9
40 /kg
34.4 /g
1988 10

1,052

3 2
H % B o8 B F o 7HiE | WS (K5 18%ikE)
(M) (M kg) (M. ke)
Z AH v ooN
HEF oy 7 11,590 24 .4 41.6
DA B
HEFEA T o 7 8,800 18.5 36.2
D B
B A F o 10,300 21.6 39.1
DA AL
BR T 7 9,900 20.8 38.3
/AN
g F o 7 10,800 22.8 40.1
7oy N W
gy 9,600 20.2 37.8
Y BlIE
BRF oy T 9,200 19.4 37.0
1 8,800m%/ 4,752t/
2 4,277t
100m?
17
1 62
63 3
2 60
3
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